EARAROBEEIERT — 2 N— IBISH —F

201553880 (H) 22M@11A&E6H

S C2—42# C2 ¥5%R4’kL (xwlw | lmEmml - |5 ) w8
[AE£] 1% :110,000"  23%&:2500M”  33%&:10,000 M  43%&:6,000 3 ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. =37 . _q_1_ _ EHELE 20
RESELELE: "7 sﬁgfisiTr 1.(2_8).5 1-1-1-1 | 39.5 1| 488 Eign (%)
XL ThANIN BNFT1T—F © 4 EE
5 6| 7HHTIUZR o4 ?ﬂ'ﬂ 1:(2;9).3 2-2-2-2 | 40.3| — 2 | 425 ﬁigg (#£%8)
R:xayIRTLLE B:TS59v 0949 F (-2) Ritie
3 o|AYA—RXINF 4 gj}*’ﬁ?ﬂt 1(72?:;% 3-3-3-3 |39.9| — | 4 | 455 g’ééi (=8)
RAR—3ITh—b BV Y-2 2 | ar -
S s, = B : —6-6- — XHAE (£8)
4 4| NEITUT 4 5 e (12.219/.28) 6-6-6-4 | 39.9 3 zzgg) e
L:Urh—r BNLIFIN-FR BREMT Y KZv T - Trp—L
. # o7 | WTHE 1:30.3 4-4-4-5 | 40.7| — 6 429 | ABfRK (ER)
51717 FALE> 56.0 a (2 1/2) (-3) () JPNEEH
RZFA4d—I K B:7I514 b= [5ert e ]
o = S, K@ KIFH BB :30. —7-7— . — =HEE (E8)
] ; FIEEZLREZAVAN TS e A e ! ?_370) BrEx
L:FEY RKY21=27 B:o—JLy b7—+ Il Es
: 4 6 | HFEEA 1:30.8 5-5-5-7 | 40.9| — 4 427 | FREEAEE (&%)
7111 | 7—A3—F 56.0 m 2 | B J P NEEF
LY ISTLYFL b BT T7H 782 Wi i
® I —F—EBIERL
|2=3F= 5,6,2,7,1,4,3
2ol=7r= 5,6,2,7,1,4,3
Jol=5r= 5,6,2,7,1,4,3
40 —F— 5,6,2,4,7,3,1
[ N3
BB 5 110M 714K 5-6 140/ B = 5-6 200M 3EHE 2-5-6 520M
8 B 5 100M 2-5 260 B H 5-6 220/ K31 5-6-2 820M
6 160 2-6 480

ABICOVWTRDTEEERROODE. TR LIV,




